Proof of Divergence Thm

1

Some as Green's Thm, we'll prove only the case of special domain D which is of type I, I, and II:

$$D = \{ (x, y, z) \in \mathbb{R}^3 : (x, y) \in \mathbb{R}_1, f_1(x, y) \le z \le f_2(x, y) \} \quad (type I) \\ = \{ (x, y, z) \in \mathbb{R}^3 : (y, z) \in \mathbb{R}_2, g_1(y, z) \le X \le g_2(y, z) \} \quad (type II) \\ = \{ (x, y, z) \in \mathbb{R}^3 : (x, z) \in \mathbb{R}_3, f_{i_1}(x, z) \le y \le f_{i_2}(x, z) \} \quad (type II) \end{cases}$$



And also as in the proof of Grean's Thm,
for
$$\vec{F} = M\hat{i} + N\hat{j} + L\hat{k}$$

we'll prove 3 equalities in the following which canbine to

give the divergence than:

$$\iint_{S} M_{i}^{2} \cdot \hat{n} d\sigma = \iiint_{D} \frac{\partial M}{\partial x} dV \quad (by type II)$$

$$\iint_{S} N_{j}^{2} \cdot \hat{n} d\sigma = \iiint_{D} \frac{\partial N}{\partial y} dV \quad (by type II)$$

$$\int_{S} N_{j}^{2} \cdot \hat{n} d\sigma = \iiint_{D} \frac{\partial N}{\partial y} dV \quad (by type II)$$

$$\left\{ \begin{array}{l} \iint L\hat{k} \cdot \hat{n} \, d\sigma = \iiint \frac{2L}{\delta Z} \, dV & (hy \, type \, I) \\ D & D \\ \end{array}\right.$$
he proofs are similar, we'll prove only the last one:
$$\iint L\hat{k} \cdot \hat{n} \, d\sigma = \iiint \frac{2L}{\delta Z} \, dV \\ S & D \\ \end{array}$$

T

By Fubini's Thm,

$$R_{i}H_{i}S_{i} = \iiint_{z \neq z} \frac{\partial L}{\partial V} = \iint_{R_{i}} \left[\int_{y_{i}}^{f_{2}(x,y)} \frac{\partial L}{\partial z} dz \right] dxdy$$

$$= \iint_{R_{i}} \left[L(x,y), f_{2}(x,y) - L(x,y), f_{i}(x,y) \right] dxdy$$

$$R_{i}$$



where
$$S_1 = graph of f_1 = \{(x,y,f_1(x,y_1))\} = \{z = f_1(x,y_1)\}$$

 $S_2 = graph of f_2 = \{(x,y,f_2(x,y_1))\} = \{z = f_2(x,y_1)\}$
 $S_3 = a vertical surface (which could be empty)$
between $S_1 \in S_2$.



(surce \hat{n} of a weitreal surface is <u>therizental</u>) None on the upper surface $S_2 = \ell \overline{z} = f_2(x,y_1)$; the outward named \hat{n} is upward (in the sense that $\hat{n} \cdot \hat{k} > 0$). Note that the parametrization

$$(x,y) \mapsto \vec{r}(x,y) = x\vec{i} + y\vec{j} + f(x,y)\vec{k}$$

Ras

$$\vec{r}_{x} = \vec{\lambda} + \frac{\partial f_{z}}{\partial x} \vec{k}$$

$$\vec{r}_{y} = \vec{j} + \frac{\partial f_{z}}{\partial y} \vec{k}$$

$$\Rightarrow \vec{r}_{x} \times \vec{r}_{y} = \begin{vmatrix} \vec{\lambda} & \vec{j} & \vec{k} \\ \vec{l} & \vec{l} & \vec{l} \\ \vec{l} & 0 & \frac{\partial f_{z}}{\partial x} \end{vmatrix} = -\frac{\partial f_{z}}{\partial x} \vec{\lambda} - \frac{\partial f_{z}}{\partial y} \vec{j} + \vec{k}$$

$$= -\frac{\partial f_{z}}{\partial x} \vec{k} - \frac{\partial f_{z}}{\partial y} \vec{j} + \vec{k}$$

$$= -\frac{\partial f_{z}}{\partial x} \vec{k} - \frac{\partial f_{z}}{\partial y} \vec{j} + \vec{k}$$

$$= -\frac{\partial f_{z}}{\partial x} \vec{k} - \frac{\partial f_{z}}{\partial y} \vec{j} + \vec{k}$$

$$= -\frac{\partial f_{z}}{\partial x} \vec{k} - \frac{\partial f_{z}}{\partial y} \vec{j} + \vec{k}$$

$$= -\frac{\partial f_{z}}{\partial x} \vec{k} - \frac{\partial f_{z}}{\partial y} \vec{j} + \vec{k}$$

$$= -\frac{\partial f_{z}}{\partial x} \vec{k} - \frac{\partial f_{z}}{\partial y} \vec{j} + \vec{k}$$

$$= -\frac{\partial f_{z}}{\partial x} \vec{k} - \frac{\partial f_{z}}{\partial y} \vec{j} + \vec{k}$$

Hence $\hat{n} = \frac{\vec{r}_x \cdot \vec{r}_y}{|\vec{r}_x \cdot \vec{r}_y|}$

and
$$\hat{k} \cdot \hat{n} = \frac{1}{|\vec{k}_{X} \cdot \vec{k}_{Y}|}$$

therefore
 $(\int L\hat{k} \cdot \hat{n} d\sigma = \iint L(x, y, f_{X}, y_{Y}) \frac{1}{|\vec{k}_{X} \cdot \vec{k}_{Y}|} |\vec{k}_{X} \cdot \vec{k}_{Y}| dA$
 $\leq \int L(x, y, f_{2}(x, y)) dx dy$
Simislarly, note that the outward normal at S_{1}^{1} (lower surface)
 $\hat{m} = -\frac{\vec{k}_{X} \cdot \vec{k}_{Y}}{|\vec{k}_{X} \cdot \vec{k}_{Y}|}$, where $\vec{k}(x, y) = k\hat{1} + y\hat{1} + f_{1}(x, y)\hat{k}$
 $\Rightarrow \hat{k} \cdot \hat{n} = -\frac{1}{|\vec{k}_{X} \cdot \vec{k}_{Y}|}$ (check!)
(tenua $\iint L\hat{k} \cdot \hat{n} d\sigma = -\iint L(x, y, f_{2}(x, y)) dx dy$
 $\vec{k} = -\iint [S_{1} L(x, y, f_{2}(x, y)) dx dy]$
 $\vec{k} = -\iint [S_{1} L(x, y, f_{2}(x, y)) - L(x, y, f_{1}(x, y))] dx dy$
 $\vec{k} = \iint [S_{1} \hat{k} \cdot \hat{n} d\sigma = \iint [S_{1} \hat{k} \cdot \hat{k} + g_{2} + g_{3} + g_{3}$



= flux dansity (by the divergence theorem)

Unified treatment of Green's, Stokes', and Diregence Theorems
Stokes' Thm in notations of differential forms (in R³)
Waking definition of differential forms
(1) A differential 1-form (or simply 1-form)
is a linear combination of the symbols dx, dy & dZ:
[w = w, dx + wzdy + wzdz]
with coefficients w, wz, wz are functions on R³.
eg: The total differential of a smooth function f
is a differential 1-form:
df =
$$\frac{2f}{2x}dx + \frac{2f}{2y}dy + \frac{2f}{2z}dz$$

(2) Wedge product : Let "A" be an operation such that
| dxAdx = dyAdy = dZAdZ = 0

$$dx \wedge dy = -dy \wedge dx$$

$$dy \wedge dz = -dz \wedge dy$$

$$dz \wedge dx = -dx \wedge dz$$

and satisfies other usual rules in arithentic.

i.e. If
$$w = w_1 dx + w_2 dy + w_3 dz$$

 $\eta = \eta_1 dx + \eta_2 dy + \eta_3 dz$

$$\omega \wedge \eta = (\omega_1 dx + \omega_2 dy + \omega_3 dz) \wedge (\eta_1 dx + \eta_2 dy + \eta_3 dz)$$

$$= \omega_1 dx \wedge \eta_1 dx + \omega_2 dy \wedge \eta_1 dx + \omega_3 dz \wedge \eta_1 dx$$

$$+ \omega_1 dx \wedge \eta_2 dy + \omega_2 dy \wedge \eta_2 dy + \omega_3 dz \wedge \eta_2 dy$$

$$+ \omega_1 dx \wedge \eta_3 dz + \omega_2 dy \wedge \eta_3 dz + \omega_3 dz \wedge \eta_3 dz$$

$$= (\omega_1 \eta_2 - \omega_2 \eta_1) dx \wedge dy$$

$$+ (\omega_2 \eta_3 - \omega_3 \eta_2) dy \wedge dz$$

$$+ (\omega_3 \eta_1 - \omega_1 \eta_3) dz \wedge dx$$

$$\omega_{N} \eta = (\omega_{2} \eta_{3} - \omega_{3} \eta_{2}) dy_{N} dz$$

$$+ (\omega_{3} \eta_{1} - \omega_{1} \eta_{3}) dz_{N} dx$$

$$+ (\omega_{1} \eta_{2} - \omega_{2} \eta_{1}) dx_{N} dy$$

Linear combinations of dyndz, dzndx & dxndy
 are called differential 2-forms (m IR³)

$$S = 5$$
, dyndz + 5 , dzndx + 5 , dxndy

eg: If w=dx, S=dyndz Hen wn3 = dxn dyndz Note that we insist on the <u>anti-commutativity</u> of wedge product, we have

$$dx \wedge dy \wedge dz = -dy \wedge dx \wedge dz$$

$$= dy \wedge dz \wedge dx$$

$$= -dz \wedge dy \wedge dx$$

$$= dz \wedge dx \wedge dy$$

$$= -dx \wedge dz \wedge dy$$

And dx ndx ndy = ... = 0 whenever one of the dx, dy, dz repeated.

Hence, as duin R³=3, all "linear combinations" of "3-fams" are just fdxndyndz which is called a <u>differential 3-fam</u> (abo called a volume form if 5-0)

$$\frac{Summary (on \mathbb{R}^{3})}{0 - faun =} f$$

$$(-faun = w_{1}dx + w_{2}dy + w_{3}dz$$

$$z - form = S_{1}dy dz + S_{2}dz Adx + S_{3}dx Ady$$

$$3 - form = g dx Ady Adz$$

$$where, 5, 9, w_{0}, S_{1} are (smooth) functions$$

$$Note = On (au certainly define k fam fn any k \ge 0. But in IR^{3}, k - forms are zero fn k > 3:$$

$$dx^{2} A dx A dy A dz = 0, where dx^{2} = dx, Ay, or dz,$$

$$Change of Variables Formula : (IR^{2})$$

$$j = y(u, v)$$

$$\Rightarrow \int dx = x_{u} du + x_{v} dv$$

$$\Rightarrow dx Ady = (x_{u}du + x_{v} dv) A(y_{u} du + y_{v} dv)$$

$$= (x_u y_v - x_v y_u) dundv$$
$$= |x_u x_v | dundv$$

Hence naturally

$$\int \int f(x_{1}y) dx dy = \int \int f(x_{1}u_{1}v_{2}) f(y_{1}v_{2}) \frac{\partial(x_{2}y)}{\partial(u_{1}v_{2})} du dv$$

Compare with $\iint f(x,y) dxdy = \iint f(x(y,v), y(y,v)) \left| \frac{\partial(x,y)}{\partial(y,v)} \right| dudv$